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Sentiment analysis of curriculum review based on
sentiment dictionary
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Abstract: A method of polarity calculation was used to analyze the sentiment of curriculum reviews on
MOOCs. First, course reviews were collected from MOOCs, and all reviews were classified according to five
attributes: learners. teaching methods, courseware, platform and video. Then. based on the sentiment dic-
tionary, we calculated the polarity of each attribute comment, and got the positive, negative, neutral and inva-
lid comment of each attribute. The positive and negative comment acted on the course score. Finally, the co-
occurrence frequencies of curriculum reviews and five attributes in web pages were calculated, and the ratio of
single co-occurrence frequency to total co-occurrence frequency was taken as the weight of the scoring. The
curriculum was scored from the perspectives of educators, learners and platforms. After applying this method
to the educational administration department of a university, the analysis shows that the results obtained by
this method are objective and reasonable.
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VRS SO R PE TR A BN
Input 43 18] J5 A0 SCRY 1% Rk ) 2% 2 B I 0] 3% | 75 5 1) R
output £ IE ] SCRY VA5 R G ) SOR (B85 R PR SORY (SR JE s A B
file=open(“test. txt”)
for each sentence in file do
for each word in current sentence do
if word exists in emtion_pos_dict then
score= 1F [i] {5 JEk i B r Xof 1o (14 155 ek B
pos_word num-+=1
else if word exists in emtion_neg_dict then
score= f71 [i] 175 JE& i) Lt Xof 1 (14 155 ik FE
neg word num-—+ =1
else then
continue
endif
if word Al 3 AN IAIAFAE 15 2 1] (Rl & il then
score ¥ = —1
endif
if word Hij 3 /> 1A f7 7 A2 BE &l 1] (A Z D then
score * =P B Bl i8] & b XF B 14 5 B
endif
if word exists in emtion_pos_dict then
result_pos+ =score
else if word exists in emtion_neg_dict then

result_neg—+ =score

endif
endfor
if pos_ num==0 and neg num= =0 then

B 241 sentence Fiy B <45 ToEE FIWE. txt”rh
else then

result_total= (result_pos-result neg)/(pos num-+neg num)
if pos_ num>>neg num then
result= (result_pos/pos_num-result total)/2
else if pos_ num<Cneg num then
result= (result_neg/neg num-result total)/2
else if pos_num==neg num then
result=result_total
endif
if result™0 then
F4 4T sentence i th B “ 45 R _IE W], txt”Hp
else if result<CO then
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B 24 H sentence Hij B L5 . oxd”

else if result==0 then
Y4 HT sentence Fy B L5 R APk txt”
endif
endif
endfor

2.3 ETEMENENBERSH

U J AR R AT 1 R M g BRI 5 AR AN () () — e P Jr o RO ACEE 2 T A ) DRk 7 0 B —
DRERIEAT VR I, 5 BN ECH & A BE o ) 5 A R 5 B A A [8) Jas 4 SO e o B9 AR R AT 1

TG AR AR AN [ A7 AT [ SCAS 9 Fo 49 R0 AR M 55 0 TR A R PR B B A5 4. RN IR TR IR R
PR A

Score = positive * acc_pos + (— negative * acc_neg). (8
Hpositive FRrmFe— B MM IE 0] PEIR SCAR L, negative FR7s — 4> @ PE 9 17 ) PF 18 SCA H il ace
pos FTrRTTE 1000 £ 1E B PES M I HERR R, ace_neg FeniTB 1000 251 [m) T8 H 4 A8 E 1 %K.

FOW W5 25 SR VR BT o5 A AR . AR SCHE T BCORT 4 Hh R 98 R 51 5 Bing . 8 i FR & UM 36 AR T Y I
AR A KR PRAR DI o 5 AU, 2 DR D7 2L ) 3 P B ERE AR MOOCs U8 14 K % 1Y 4 o
B JE AR B B 2 T A R P S IR TR IFIEAE Bing BT MOOCs U BT K &R i ok 19 4 h 45
HHMX MR ERR G Sarh iz . &R R CEREFIR”NEARE ) AND
(MOOCs).

PG M S R B S T 3 i WS e I L R B 2 S M /NS W

Score_edu =a, * S_vedio + a, * S_method + a; * S_learner + a, ¥ S_courseware. (9
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Score_learner =b, ¥ S_vedio + b, ¥ S_method + b; ¥ S_courseware. (10)
Horp by R UL 7 21 35 £0 BE BT o AOALER 5 b, R PR T 2UHE 5% ) 35 A BE BT o5 AL, by Ron IRIFTE
5> AR I R AR

AP A B BRFRIE Ay LR 5 8T X — D E AT A K

Score_plat = positive * acc_pos + (— negative * acc_neg). (1)
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3.2 KR
DB RHTAL BE . #2645 B 20 1) 3 B0 4 (18 000 45 W38 HEAT 431, 2245 FH il 5 R Ji5 X k4 4 1k
17 word2vec 1) 1] & B Y 25 , 3RA5-17] [a] 1 45 Y 5 £ f5 {# F] Stanford Corenlp Xf 5500 25 iR R2 8 #E 474317
12545 FH 1l b B, I T 4 35S 0 PR AR A S5 i I 2 RS0 A AN D R
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PEH 3 500 ZA PR PEIRVE R U 2R 84l . 2 000 2% BRAR VIR A S DU 38 6, OF 4l PR s v (B2 2R 7
KGRI S F 2 E PO X PES AT R 2 R R R R A R IER F N 89.9%. AT
i — 2D UE A S5 28 7 vk 1 G BRAE R AT SR A

SO R (2 000 250 B AR 0 43 A 1% B0 #E 4T R4 BESENBHRER

SEG IS UE AR B A AN Ol LR 4L i 4 1] Wi 3 B Se A W A %

F1.96.25 0 B9 SCAfF BN T 10 i 2307 af H= 2.0 1 0.05
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TEMCAR O UREE IS P, N TRk 1 000 ZRIE 0] IR A 1 000 2% B 10 48, 4R )5 4 T 1 J ] i 155
PRI MR B IE A 3, &5 R W3R 5. th 3R 5 45 R 0T LU W, AR SCO7 V6 X IR AR 08 1 0 W o 0 L A 20
PRI AR S5 3k T A DA 0 W R R PP A ) T 0%

x5 FIRHRETEER %

SCAA 1) BT i LE ]
BRI R SO R N v N

AT NRTES B RR

1E [ 38 89.1 10.9 89.1 4.2 2.1 4.6
1 1 8 88.4 11.6 5.7 88.4 4.8 1.1

e H python BRFERY 2000 Z% PR IFIRHEAT 16 B A, 19 R M i B SE A7 TR Pk 0 28 L SR T3 4% 5
AW JE AL 2 RIS AE R ANk 6 k.

F 6 python REHEESERHEBEHELER

SRR RO 4 b G -

1F ] AR ) LA LB TCR AR
LT 388 87.37 9.54 2.32 0.77
Eva” e 418 86.39 10.39 3.22 0.00
22 H 432 71.76 21.99 4.86 1.39
PRI 391 87.72 9.21 1.79 1.28
5 371 73.05 17.52 7.55 1.88

I IINEE & 2T G 3 ST M X4 python BEAR BEAT IR AR IE 4. LA (C“IRFEPEIE " NEAR
“HLA) AND(MOOCs) . (C“BREE P8 “NEAR” #2 2R J5 7)) AND(MOOCs) | ("B PFIR “NEAR” %% )
H#”)ANDMOOCs) , CURFRIFIE “NEAR £ ) AND(MOOCs) . C“HEFEIE IS “NEAR”F 4 7) AND
(MOOCs) 43 HI7E Bing A3 153 2 (4 K Ay &3 514 5 460.4 610.3 290,13 700,5 270.

HEHEMERNSRIEN S AR MR 7 TR, 2 7 b4 R MEACE A £ R 1E Bing AR Z WU AR
FEVP R L [w) A A T S A B2 PR O 22 2T B R A3 0 R DR R VTR R R R A T A R =2 L
A5 T B85 B A EE A5 K - 5 460/(5 46044 61043 290+13 700) =0.20. MR A () FAZ (9,55
HEEMERN T AR50 69.45, 5 73l 15534 3.

2] AT R R M AT S A I 8 TR, £ 8 4% IR A (H R R AE Bing b AG &R AL AR
PV S [ H B0 iy vh B0 AT B PR D7 SRR 23 0] 5 PR ER VPR A F S 19 h B0 Az L B an A
IR 8 R 5460/ (5460+4610+13700) =0.23. R A RO AMARX Q0 B HF T EMERE
AR5y R 69.45, 5 A48 48R 3.

x7T BEERAENZEEMANE 8 EIEREMESEMERMSNE
J& P o IR EIE R &t T iR PRAF
NEME  0.20 0.17 0.12 0.51 A 0.23 0.19 0.58
- B B PE A BB TR AL R 6 A ®9 FHESTNEROWEXR
AD IR TG A E W358 46.93, 5 431l WA P 45 R
85 2. =>4 7
BMEHEH FIE CEEMIESE S python 3 R4F
PR C£E MOOCs -4 1) 3T 4 45 5 i %8 7 56 5 1 4 ; :;i

9 Fr. iR BRI A BB python BREETH 41,
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